Constable (GD) in CAPFs, NIA, SSF and Rifleman (GD) in
Assam Rifles Examination, 2018

[Roll No. : |
Reglstratlon ‘
|

||Name

Exam Venue :

[Exam Time :  [12:30 PM - 2:00 PM
[Exam Date :  [02/03/2019

! U T 3R TEE 4TeT § e H Fi o FEr w4 s

ZX, WU, TR, QO, ?
ans X1 ML

X2 PR

X 3 NK

v« NL

Question ID : 9895808239
Chosen Option : 4

? eAflT & ¥ 3EEE # 9gEe
Ans 1 516
X 2 432
X< 3 333
< 4 261

Question ID : 9895808255
Chosen Option : 4

Q3 =7 fmeT = 777 FX 3 A 9% ¥ 30 9N TEfed § O TN @ 97 e 9% ¥ wEh
BCD : DFH : : JKL : ?

Ans - X1 MNO
#< 2. NLP
v 3. LNP
< 4 LMP

Question ID : 9895808244
Chosen Option : 3

Q-4 =7 faFeT 1 TTF F{ F W T ¥ I TR TAOT § HE TR g 97 T T ¥ wEEA g
AT TR AT ;0 T FEAT 7

Ans 51 FEITAT
< 2. FATAT
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User
Draft


v 5 3T T
X 4 T

Question ID : 9895808242
Chosen Option : 3

O Rwedt & ¥ 3w gl B TEES FY Swd & 7§ gl AR ¥

co‘
Ans
i
X[
1
(@)
V//.-"

Question ID : 9895808260
Chosen Option : 1

Q.6 v ¥zt & WY v WER NEN IS T @m0 §) =9 el w99 # fHghhd @ W
e FeT ¥ oA det & R e

hod

PRIV

Ans

[ —
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Question ID : 9895808262
Chosen Option : 1

Q.7 #rx T v Fy=t & &g o | 3 1l R’w 7w ¥ awenr Syt F & 9 SO F Fed AT &, oo &
TF TF AT 9 ¥ e g @ & 3t aE 9 e § T FE wn T o w9 @ et
Rad &7 & FAT A AFFEOT HLA g/H

HUA:
Fo 9ftq 7= £
T == 55T B

fors=y:
. T& 9fEa =34 8
Il. FE 92T =ha 787 E1

M A e | TSRy 11 30T R E
X 2 Fad frsHy | 3FEOT HL gl

X o Bt T 3gEor e B

X o Fae TeEs |l Far B

Question ID : 9895808251
Chosen Option : 4

O SAfafET & ¥ weT #r wEEa H=:
Ans X1 GITV

/< 2. ACNP

v 3. JKXY

< 4 DFQS

Question ID : 9895808240
Chosen Option : 3

Q9 37 fmew F 7T F F AW T ¥ 3 TER FALT ¥ W THR qET 9E T 9¢ ¥ FEOS £
geff : wesr :  AEEE 2
Ans  of 1 Irofrr
A2 e
X 3. ATFEART
X 4 frsre

Question ID : 9895808243
Chosen Option : 1

Q1 o o v S # #3 §1 Wy ¢ o ¥ 96T & oo o & a9 9RT F @ Ok F 108 T
0 wimfisrdimd i besavsas R sa o mr da s 8

ans X127
V2 24
X3 20
X4 32

Question ID : 9895808248



https://career.aglasem.com/
https://aglasem.com/

Chosen Option : 2 J

v 3

pv)

HARA

% BT T Rt F @ 3EeT $T 9g=T FL
e XL s

A2 FrEa
X aftmE

Question ID : 9895808241
Chosen Option : 2

Ans X 1.
X2
v

F 8

S

T DO

Q.1 Fuer vk T § Fr o1l -y & WF ITAT IR 39T AT AwEw P A Q WE FSIEEr 7 &

2 At a S sE # S, R ¥ A saer g@ 396 F0T M, O ¥ g9 SEe ZEd 39T
FEM N, O F a2 3 R & 97 SHH 3999 LM Q, R F S Uger 3946 &390 Q T & g
T2 T ITART RiT FET?

Question ID : 9895808249
Chosen Option : 4

% foT v et # @ Foa FE A9 A

36

13

31

28

10

24

18

23

Ans X1
X2
F 3
v

36
27
20
32

Question ID : 9895808256
Chosen Option : 2

4:19::6:2
- 24
- 39
- 36
- 30

Qail 37 faFeT 1 =0 S AW Ug F 3¢ 9HR TR § B YR @ 9E e g @ wetie g

Question ID : 9895808254
Chosen Option : 2
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Qél 30 ReeT #1 T F A v BEd F ww | Hwen Hiy o aw ded @ 9w s

- [
x: [
< )

v %D

Ans

Question ID : 9895808259
Chosen Option : 4

Q1 gy '+ w313 'Fg §, '+ F AT mE F, ' F AT O § AR« o Rene g
6 Crmfafas weeRor 1 @ T @

75x5-4+7+2=2
Ans Jl. 65

< 2 69

X3 72

X 4 87

Question ID : 9895808257
Chosen Option : 1

Q.1 afy fFEr g AT # PINK & OHMJ % &9 & for@m =mer ¢, & 381 % &1 § BLUE & %8 e
7

Ans X 1. TKDA
v 2 AKTD
X 3 DATK
X« KTDA

Question ID : 9895808245
Chosen Option : 2

Qél i T FE & A CUBA &1 27 & w7 & g =am &, &t 34 s o F FUI &7 58 e

Ans f 1 34
<2 30
X327
< 4 38

Question ID : 9895808246
Chosen Option : 1



https://career.aglasem.com/
https://aglasem.com/

Q.1 37 fyeFoT 1 == H{ F U & T HT W I+ W U 710 wreg i 2907 ofy & gaifis Aer @ar
9 %

TOLERANT

Ans X1 TMAATOIT
2. TMaSAIOT
/< 3. IFOEEVIAL
/< 4. LOTEEVIL

Question ID : 9895808261
Chosen Option : 2

& o1 smer #F HeT TEAT A HL
3, 14, 33, 60, ?
Ans XL g?
<2 92
v's 95
< 4 99

Question ID : 9895808253
Chosen Option : 4

Ql-2 39 39 3N FT 999 FL A BT 70 FF F = gt Fr a7 o ¥ gAvar ol

Ans
Xt
« 2. @ Q
X
X
Question ID : 9895808263
Chosen Option : 3
Q.2
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Ans

#r faw or wual & ag & | A 1 e T | e wuet # & S Aeer O Hed AT 8, oo
T T AT T ¥ e goiT g @ 3R 9 07w T A md ey ot w9 ® Ak
e = & T 7 e wa g

mfrmrﬁmm%l

T FETeET FEa

sy

I. % off FEeTer STFaE FE&r 2

Il. T Fiaand Fgriear &

X 1 gt fTsHy HTEr F B

X2 & s | o Tesy || steEeor e §
X 3. aer TS | HegEIoT T B

v i Fae s 1| Far B

Question ID : 9895808250
Chosen Option : 2

Ans

FMEIFET P, QR S, T, U VIR WHT & &5 1 37 g 7% 30% T8 A S § P, T F 7w
AT ST WHER QF VAN TN NHA TSI E W, TFICA W AT REATR&F

¢ AR Her g1 U, T W Q # = A Af #9T §, ew 9% V & faege AW AW der §1 Q & Teww

qe HIT @i dar §7?

X1T
v p
X3 R
X8

Question ID : 9895808247
Chosen Option : 2

Q.2
4

Ans

Fie & FFeT Tea Fea & T 9 Aen HR & T y@er F QU HEm?

2 X[ Xeo| -
C

A B

X1 ><|Q
v %

x| X9
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X O|X

Question ID : 9895808258
Chosen Option : 2

% & o1 ggen & e wEAr A
12, 21, 30, 39, ?

Ans X144

v'2 48

X 3 41

X 4 50

Question ID : 9895808252
Chosen Option : 2

Q6-2 2015 #, RefEm # & Fin dsfier I & o e = og=s et 5o s Afyer Rendr 12

Ans X 1 RS derear
2 |EAT AgaTe
X 3. Sdrell g7
54 ‘:ﬁ'Eﬁ'ﬁfg

Question ID : 9895807306
Chosen Option : 4

Q.2 wieedt & ey #, Tt EuReTsH F ¥ v T § O wieadl 3 eedrEs @A # R §
7

AN X1 g @ & g wad

v gaafas F¥EEEaT & FER
K3
IR & 9T & AT FAT ¥E9gR FaT J1ar § 3§ W AT

X4 gt #F 3 sraEEar

Question ID : 9895807316
Chosen Option : 2

% IRUNF R e FT 64RE F R To7 § FEE 82
Ans «lm

X 2 sy

A s FEreT

X4 Tafeea

Question ID : 9895807304
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l Chosen Option : 4

Q2 frfafam # ¥ T ROETE 3 T S A Wl TaE o B2
A o1 ATEEe eeH

X 2 #AF Baes

X s T A

K o e T

Question ID : 9895807307
Chosen Option : 1

% FFal 2019 FF, W (SAARC) ¥ FgERE FiF 2
M s TR T

X2 ¥ fig

X o 3T IEE

v maag‘ﬂ?ré’r e

Question ID : 9895807310
Chosen Option : 1

Q1-3 mﬁmmm#sﬁ##mﬁﬁaﬁﬁm%ﬁaﬁmﬁaﬁ@r%ﬁmﬁwmﬁ?

A X 1 aed TS (T 7T sTERE)
v 2 oy firg (39 siere)
X s wudrga R (AFargss o)
X o Hgarer Foamg

Question ID : 9895807324
Chosen Option : 2

Qé3 afy #1 FA T T Fgar & F T v e gt 9oy W OSAR Fenar @ A g gery
T TEH W AIH T AT &7

e K1 Eree @ T
X 2 7g H A F: gE A
X s Fors T
v o FOET AT FT AET FaH

Question ID : 9895807317
Chosen Option : 1

Q3 Fams & iE 791 & AR AT F FA AT W WA Fand A F BT aw wiE awmw a9 g
3 smamar ofr FEer §

Ans X1 T el
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v 2 ST 7T
X 3 379 Hoa

X o &A AT @ 7o T

Question ID : 9895807312
Chosen Option : 3

Y faf@e d @ 7 @ aure & gew w78 32
Ans o1 gredy

X 2. FAgTeRTer

A3 Aol

v i T

Question ID : 9895807322
Chosen Option : 3

S =T & ¥ Fia o= SOl (FRgRTe) #7 sEer €2

Ans Xl- QET
X 2 ol

v e
X4 fFEm

Question ID : 9895807319
Chosen Option : 2

% g T W A aR Aer oifer R R e 2
A o1 3w @ e 'fafa (ICRC)

X 2. 3aTsd sffs @erea (ILO)

X o FgFT T (UN)

X4 fem &%

Question ID : 9895807308
Chosen Option : 2

Y Rafers g & oww i 2
Ans  of 1 =2ray

X 2 R e

K o290y

X o GHUA

Question ID : 9895807309
Chosen Option : 1
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Qfﬂmmmaﬁrmm%mﬁﬁmﬁmwmvém
X ST T e

X2 yraels

v gaTses e

FaSEAE )

Question ID : 9895807314
Chosen Option : 3

Qé3 I Hifeer A =o= @t % weue AR oF S @ wET & o e A e e

A oL e 3R T @
X 2 ymora 3t
X 3 T

X 4 Eeelr =g
Question ID : 9895807311
Chosen Option : 1
Q4
o Beer & 3T %'I
Ans x 1 -

< 2 fEanoT
v 3 3geToT
< 4. grediasyor

Question ID : 9895807320
Chosen Option : 4

% S e mEr R AR e ¥ gefa 37

Ans x1. ¥
X 2 of¥gs Femer
Vo affEer
X 4 HEH

Question ID : 9895807303
Chosen Option : 4

4 5 & eraredr EW 9§ & foReT T Oreh A, 5w ol & meEey 32
Ans 1 et e

X2 3T ai

v gl o

X4 arar uR
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Question ID : 9895807325
Chosen Option : 2

% arrEch T SR ¥ B T § E
Ans X1 meg ger

v 2. 3pfEer

X o FERIE

X 4 qf¥Es Soe

Question ID : 9895807305
Chosen Option : 1

Q4 form AR TR F AT F FHF WeawTg Ry gede # Fa
" S T

X 2. greeT ST FiAwEe

v 3g e

K4 P TR

Question ID : 9895807327
Chosen Option : 2

O Prafafea § & Fia @ T AT 9RE, Tihea 3 A T e gg ¥
Ans X1 e

X . T

X 3 ety

v 4 FERA

Question ID : 9895807323
Chosen Option : 3

Qé4 3 IO T ATH AT S F qAF F AT 3 qAC W F AGE FAT 82
ANS X1 s

X 2 g

X s ofe A9 & I (SSAERET)

Vo et

Question ID : 9895807318
Chosen Option : 1

Q7-4 TSN AT F HEAOE T R & 5w wa W s & Baw § getee B oo
Ans X1 TOMT

X 2 Bietr

X qor
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v 4 TS

Question ID : 9895807326
Chosen Option : 4

U irer AT S5 @ HfEISER e BT ar?
Ans xlc_ié_w

Question ID : 9895807321
Chosen Option : 1

%' 1993 & seogde Y FHSAT W TIE & gEaana gam?
Ans XL ﬁ 7«'33?‘:';

Vo 3%a U3

X o g 3T

X+ oy 3T

Question ID : 9895807313
Chosen Option : 3

Q.5 form v AE-fEr st aftss aEfE & e st e afafEas (@ #r 3e HE wew UF
0 Rfes ffeaew wee) o gaim?

Ans  of 1 2007
X 2. 2005
X 3 2010
X 4. 2004

Question ID : 9895807315
Chosen Option : 3

%9, 14 3k 99 #F st i w2 32

Ans X1 451
< 2. 541
vz 154
X 4 145
Question ID : 9895807638
Chosen Option : 3
Q.5
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amtafea afes F7 3egaa #1 3R 35 3uT | 99T & 3cR S
foaw a1 st F ofy o v Fueh =1 =@ (o T )

= w1 A
£ ST 9T

guw skt
Fae Lice:s =TT £

aftager
1908 | 288 98 3.00 234 83
1998 | 342 112 252 325 108
2000 | 324 101 3.84 ‘ 418 74
2001 | 336 133 3.68 36.4 88

I

2002 | 420 142 396 ‘ 494 98

& o1z 3Ty & W Fue gEw BT T AR S Fer T, 5 3@ & g B A daw & g ufr

T T T i #2

Ans X 1 24.47%
v 2 26.37%
X 3 2537%
X 4 27.47%

Question ID : 9895807652
Chosen Option : 1

Qés '\qfl?»ﬁﬁl ﬁ :

14.62 - 0.5 of (8.3 - 3.3) + 2.6 x 4.04
Ans of 1 22 624

X 2 24624

X 3 23,624
X 4 22642

Question ID : 9895807630
Chosen Option : 1

Q.5 32 FEgt & w9 FFA x TG & T AET F WA g1 AfE O 28% g, o x # AR
4

Ans X115
X216
vz 25
X420

gl

Question ID : 9895807637
Chosen Option : 1

Q.5 A FEET A F D ¥ Ted qr, OF e 3 FEed § weed T F 30 min 3T F gEar 3

5 ey e & 3 F @ R @ s
Ans X 1. 80 min

/< 2. 70 min

v 2 90 min
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2 4 80 min

Question ID : 9895807645
Chosen Option : 3

Q.5 w TRfE TR Twgfe = W 3 99 #F 28,500 3 4 99 F 29,520 gl A W I§ =T @ e
6 ¥

Ans x 1. B%
X 2 4%
vz 12%
X 4 3%

Question ID : 9895807642
Chosen Option : 1

Q.5 AT skt o & 9w e #T 21,300 ¥ HfAT & 3500 AN W, WAT F I T AR gl S W
7 % o wea dh afEa 3R T F 9 e & St AT o, ST a A i

Ans X 1.7 : 1
V29 :4
X34:3
Xa1:3

Question ID : 9895807640
Chosen Option : 2

Q.5 A s Fd awr 12 =T & 3 B aven 10 R & 57 TFam ¥ 572 3440 F FH @iy ¢ vl A
8 r fraa T R

Ans of 1. 2200
< 23240
< 3. 2300
< 4 3150
Question ID : 9895807643
Chosen Option : 1
Q.5
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=T afeer & eaa T 3 35%F 3R 9T 99T F7 5o} &
few av anf #F ufy 9 v el &= T (o T H)

=T w1 R
T
e HOT 9T
T Faw e s
gfEEa
1998 288 a8 3.00 234 a3
1998 342 112 252 325 108
2000 324 101 3.84 41.8 74
2001 336 133 3.68 36.4 a8
2002 420 142 3.96 49.4 a8

1998 # 31 sl avgall W T T 2001 7 Fo¥ AT & T Thedell ATcierd om?

Ans X 180.97%
v 2 8297%
X3 7297%
X 4. 82.79%

Question ID : 9895807651
Chosen Option : 1

Qde P!?ﬁFl F
12-64+8+07 x04
Ans X1 11.42
X 2 11.84

X3.12.48
v 1148

Question ID : 9895807629
Chosen Option : 1

Q-6 v grmmEw & IR # swaw 480 AR 3w RET F 222 awige @9 § e & oF @ A 30

l resmmd o Reomge S s sl &
Ans X 1260

X 2 285

X 3. 280

v . 265

Question ID : 9895807631
Chosen Option : 1

Q.6 2 mm =uTE ¥ T 36 m AT TH AF F AN, TF AT aA & o0 WEeRT e g1 ar e i e
2

.
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Ans X 1. 5 cm
v'2 3 em
K36 cm
X4 4 cm

Question ID : 9895807649
Chosen Option : 2

Q.6 = A 7 800 feht #r Tf 77 7S & BT &7 B W 6 W 3WF AT ¥ AR & A ATy S A
3 st wmmEBT o TE s T IS I B A T

Ans o 1 80 km/h
X 2. 75 km/h
X 3 50 km/h
Z 2. 60 km/h

Question ID : 9895807646
Chosen Option : 4

Q.6 msw =g wwar, Torwwr 1861 2kv 2039 = fawnfag @t 9T HAw: 7 3 5 duwer @ AT &,

4

Ans X112
v 18
X3 35
X424

Question ID : 9895807628
Chosen Option : 4

Q.6 zr et X 3T Y # 37 e gEw iy oo F 660 F o A S §1 ;R X wY
5 m?frm%ﬁa:ruoqﬁmmwﬁmm%,a?Yaﬁﬁm@#)ﬁﬁmsgwmﬁmm
%“J

Ans X1 200
X 2 250
v 3 300
2 4 350

Question ID : 9895807635
Chosen Option : 2

Y e & @ Fer avwe T A
(@) V2 em f3=Tm &1 @& I
(b) w THETg e Torhr o= 4 cm ¥
(c) 3cm, 4 cm R 5 cm st AT T

(d) 2.5 cm 3R 2 cm =Tt aTET AT

Ans xl- c
V2 b
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X3 a
X4 d

Question ID : 9895807647
Chosen Option : 3

Q.6 100 §ay 7450 #rax & @i 7w § 3y 360 oY eo 1 X ¥ 5= 71w §| o W @l v wfdew
LA

Ans Xl- 12;
X211

1

v 11;

a 2
< a I

Question ID : 9895807636
Chosen Option : 3

Q.6 v TR FrumeT s F AW T W 5 a9 §1g 28,000 3R 8 I ¥g 29,800 g § iy A€ =@~
8 T

Ans x 1. 15%
<2 8%
V'3 12%
< 4 5%

Question ID : 9895807641
Chosen Option : 3

quﬁ%qmﬁﬁmﬁSw&Erm%,a’rﬁsﬁrqﬁﬁ T T B

Ans o 110 T cm
<29 mcem
K36 mem
K45 1mem

Question ID : 9895807648
Chosen Option : 1

Q.7 v wam H 18 o=t w1 Hua a= 52.5 kg ¥ 3T Gk 6 wEFr FT A= 445 kg B FET F wer
0 et w1 asitgg 5o =T &4

Ans X1 51.5 kg
v 2 50.5 kg
/< 3. 50 kg
< 4 525 kg

Question ID : 9895807632
Chosen Option : 4

Q7 AslrB s R d s TFa § Bl C siam w20 A dmmma di gt A C o
1 AR 30T MR &, & 9% TAG A HY, S C WA FE FA H o

e K127 o=
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X2 45 &=
v': 60 R
X 4 33 ey

Question ID : 9895807644
Chosen Option : 2

Q.7 #fx el T &1 & mrew o) T & A 2 0 3 ¥ A SE Wi (Sgee) 3R A
FIT AF

Ans X 1. 4:3
v25:2
X33:2
K42:5

Question ID : 9895807634
Chosen Option : --

Q.7 v u3r 7 3ifFa 7Fg 600 ¥ TF GFEER aF FAG g & § AR 459 F 9t I9er 1 ;G TEA
3 mio% % AgEhEe Zl

Ans X1 12%
X 2 20%
X 3 10%
v 4 15%

Question ID : 9895807633
Chosen Option : 4

Q: Eﬁ:rzimrrﬁi:g:i%mﬂm#%’lmaﬁ#@msﬁmmﬁw%ﬁwms%lm
T FLI

Ans o 120, 24, 15
X 2 30, 34, 21
X3 24, 28, 15
X 4 42, 48, 33

Question ID : 9895807639
Chosen Option : 3
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fratafaa afemr &1 3regae T 3K 39F YR 9T 999 F 3ca7 &

e arv asf & gfy a¥ v F9=h @71 =37 (am@ TA)

= w1 g
=% =T W
sua st
FeAeT Eor: e
aftagsr
1998 288 o8 3.00 23.4
|
1999 342 112 252 325
2000 324 101 3.84 416
|
2001 336 133 3.68 364
2002 | 420 142 3.96 49.4

83

108

74

88

98

g 9 daw H dwa T F g S FO F 5w 3E F T g 9@

Ans X 1. 335 @
V2 334 T1@
X3 242 AM@
X4 232 oM@

Question ID : 9895807650
Chosen Option : 4

Section : English Language

Q.1 Select the most appropriate word to fill in the blank.

In order to cut down on errors, a keyboard that can be to suit individual typing style is needed.

Ans  of 1 adjusted
& 2. shared
X 3. projected
X 4. predicted

Question ID : 9895807982
Chosen Option : --

Q2 gelect the option that means the same as the given idiom.

To kill two birds with one stone
Ans o 1. To shoo away birds

< 2. To shout at two individuals at a time

< 3. To achieve two aims simultaneously

/< 2. To do many jobs at different places

Question ID : 9895807975
Chosen Option : --
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Q3 Select the option that means the same as the given idiom.

To bell the cat

Ans o 1 To take a lead in difficult situations

< 2. To catch a cat and bell it first
< 3. To tie a bell for a cat at home

#< 4. To be alert to danger anywhere

Question ID :
Chosen Option :

9895807976

Q.4 From the given options, identify the segment in the sentence which contains the grammatical error.

Animals experience feelings of love and they also protect their young ones from difficulties as human does.

Ans o 1. Animals experience
/< 2. they also protect

/< 3. as human does
/< 4. feelings of love

Question ID :
Chosen Option :

9895807957

Q5 Select the synonym of the given word.

ADORN

Ans X1 Decorate
v 2 Generate
& 3. Create
< 4 Produce

Question ID :
Chosen Option :

9895807972

Q.6 Select the most appropriate option to fill in the blank.

Disputes destroy your happiness and distract you

Ans xl- off
/5 2. away
& 3 from
v 4 at

vour everyday tasks at work and home.

Question ID :
Chosen Option :

9895807964

Q7 Select the correctly spelt word.
Ans - X 1. Tuitoin

#< 2. Tuition

#< 3. Tuiton

v 4 Tution
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Question ID : 9895807980
Chosen Option : --

Q8 gSelect the most appropriate option to fill in the blank.

The earth round the sun and not the vice-versa.

Ans X' 1. revolves
v 2. revolve
X 3. has revolve

/< 4. revolving

Question ID : 9895807963
Chosen Option : --

Q9 Select the correctly spelt word.
Ans 1. Emergency

/< 2. Emeregency

/X 3. Emergancy

« 4. Emargency

Question ID : 9895807979
Chosen Option : --

Q.1 From the given options, identify the segment in the sentence which contains the grammatical error.
0
Hackers can either tampers with a random number generator or figure out the resultant number easily in case of online

gaming.
Ans 1. with a random number
X 2. figure out

' 3. Hackers can either tampers

X 4 in case of

Question ID : 9895807959
Chosen Option : --

21 Select the antonym of the given word.

FUTILE

Ans o 1. Fruitful
& 2. Common
& 3. Mutual
X 4. Collective

Question ID : 9895807974
Chosen Option : --

Q2-1 Select the most appropriate word to fill in the blank.

When the bat pays attention to an object. the of that object sharpens in its brain.
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Ans &X' 1 appearance
/< 2. portrait
W 3 depiction

& 4. representation

Question ID : 9895807981
Chosen Option : --

Comprehension:

In the following passage some words have been deleted. Fill

in the blanks with the help of the alternatives given.

Violence is an expression of aggression. There can be
various reasons that cause this kind of behaviour. Various
(1) social situations or circumstances in life affect
an individual adversely. The reaction to those situations is
(2) Those who are short tempered or are unable to
cope with the changing environment find it hard to behave
(3) This frustration comes out in the form of anger
and violent behaviour. Though, environmental factors are
responsible but only to an (4) Psychologists
believe that violent traits are (5) in nature and are
likely to surface sooner or later.

SubQuestion No : 13

Qél Select the most appropriate option that will fill in
the blank number 1.

Ans X 1. destined
+ 2. unfavourable
& 3. favourable
< 4 lucky

Question ID : 9895807966
Chosen Option : --

Comprehension:
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In the following passage some words have been deleted. Fill

in the blanks with the help of the alternatives given.

Violence is an expression of aggression. There can be
various reasons that cause this kind of behaviour. Various
(1) social situations or circumstances in life affect
an individual adversely. The reaction to those situations is
(2) Those who are short tempered or are unable to
cope with the changing environment find it hard to behave
(3) This frustration comes out in the form of anger
and violent behaviour. Though, environmental factors are
responsible but only to an (4) Psychologists
believe that violent traits are (5) in nature and are
likely to surface sooner or later.

SubQuestion No : 14
Q‘il Select the most appropriate option that will fill in

the blank number 2.
Ans (1. pleasant
< 2. suitable
& 3. indecisive
W 4 agreeable

Question ID : 9895807967
Chosen Option : --

Comprehension:
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In the following passage some words have been deleted. Fill

in the blanks with the help of the alternatives given.

Violence is an expression of aggression. There can be
various reasons that cause this kind of behaviour. Various
(1) social situations or circumstances in life affect
an individual adversely. The reaction to those situations is
(2) Those who are short tempered or are unable to
cope with the changing environment find it hard to behave
(3) This frustration comes out in the form of anger
and violent behaviour. Though, environmental factors are
responsible but only to an (4) Psychologists
believe that violent traits are (5) in nature and are
likely to surface sooner or later.

SubQuestion No : 15
Qél Select the most appropriate option that will fill in

the blank number 3.
Ans  of 1 harshly

< 2. negatively

/< 3. eagerly

/< 4. rationally

Question ID : 9895807968
Chosen Option : --

Comprehension:
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In the following passage some words have been deleted. Fill

in the blanks with the help of the alternatives given.

Violence is an expression of aggression. There can be
various reasons that cause this kind of behaviour. Various
(1) social situations or circumstances in life affect
an individual adversely. The reaction to those situations is
(2) Those who are short tempered or are unable to
cope with the changing environment find it hard to behave
(3) This frustration comes out in the form of anger
and violent behaviour. Though, environmental factors are
responsible but only to an (4) Psychologists
believe that violent traits are (5) in nature and are
likely to surface sooner or later.

SubQuestion No : 16
Qél Select the most appropriate option that will fill in

the blank number 4.

Ans of 1. extent
/5 2. range
< 3. intent
< 4 end

Question ID : 9895807969
Chosen Option : --

Comprehension:
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In the following passage some words have been deleted. Fill

in the blanks with the help of the alternatives given.

Violence is an expression of aggression. There can be
various reasons that cause this kind of behaviour. Various
(1) social situations or circumstances in life affect
an individual adversely. The reaction to those situations is
(2) Those who are short tempered or are unable to
cope with the changing environment find it hard to behave
(3) This frustration comes out in the form of anger
and violent behaviour. Though, environmental factors are
responsible but only to an (4) Psychologists
believe that violent traits are (5) in nature and are
likely to surface sooner or later.

SubQuestion No : 17
Q7-1 Select the most appropriate option that will fill in

the blank number 5.
Ans  of 1. general

/< 2. common

& 3. extrinsic

#< 4. inherent

Question ID : 9895807970
Chosen Option : --

Qél Select the synonym of the given word.

BRITTLE

Ans X 1. Enduring
< 2. Coarse
# 3. Durable
v 4 Delicate

Question ID : 9895807971
Chosen Option : --

Q.1 sSelect the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
9  substitute it, select No improvement.

Permit me to speak the truth and I have say it without any fear.

Ans X 1. Iwill say it without any fear
< 2. I had say it without any fear
« 3. 1shall said it without any fear
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/< 4. No improvement

Question ID : 9895807960
Chosen Option : --

Q.2 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
0 substitute it, select No improvement.

In case of actual requirement, there is a dearth of woman army officer in our state.

Ans  of 1. women army officers
< 2. No improvement
/< 3. women army officer

/< 4. woman army officers

Question ID : 9895807961
Chosen Option : --

Q.2 Select the most appropriate option to substitute the underlined segment in the given sentence. If there is no need to
1 substitute it select No improvement.

The family had been without food for four days.

Ans X 1. No improvement
' 2. family is being
/< 3. family are been
7< 4. family is been

Question ID : 9895807962
Chosen Option : --

%2 Select the antonym of the given word.

COUERTEQUS
Ans X 1. Impartial

v 2. Detached

/< 3. Independent

< 4 Rude

Question ID : 9895807973
Chosen Option : --

Qéz Select the word which means the same as the group of words given.

An introduction made by the dramatist at the beginning of the play
Ans X 1. Dialogue

/< 2. Epilogue

/< 3. Prologue

+ 2. Monologue

Question ID : 9895807977
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l Chosen Option : --

Qf Select the word which means the same as the group of words given.

A poem of serious reflection, typically a lament for the dead.
Ans 51 Elegy
X 2 Ballad
# 3. Sonnet
« 4+ Hymn

Question ID : 9895807978
Chosen Option : --

Q.2 From the given options, identify the segment in the sentence which contains the grammatical error.

5

The constitutional order on which the Indian State run is that there shall be no diserimination on the basis of religion.
Ans X1 Indian State run

#< 2. there shall be

/< 3. on the basis of

« 4 order on which

Question ID : 9895807958
Chosen Option : --

Section : Hindi Language

! wf I& A eRE F TAA HY
s X1 seardr
v 2 geai
K s gaaie
X+ ey

Question ID : 9895806759
Chosen Option : 2

2 FEr I A eEE F 99 FL
Ans Xl' :‘q_ﬁn_
X2 R
Vo s
< 4 rarfgeE

Question ID : 9895806760
Chosen Option : 3

Q3 faw 1w A & W@ifrT @E # TATURT RS F BT 39gF BT F T F

WX #F 9 AT F AU F FAT HETF ¢

Ans
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AL giEE
v 2 g
K 3. frogur
X 4 Jeoraed

Question ID : 9895806739
Chosen Option : 3

4 fw =TT F1Fw F TE HET A9 # SwE w7 TR

famer & vl & wgsT & wAEEet #F FA 3w
A 1 T T B
Xz-naﬂr%rmaﬁﬁ

X 3 =TT &
KXo gy o

Question ID : 9895806735
Chosen Option : 1

@ T AT AT F A AT AT A FE IR P

T 7 3T TS 1 AT Hedl FT el FI FH 90T 37 g
Ans X1 e st @y

X2 ara =

X s AT FEar FT e

v 4 T FT 9o & B

Question ID : 9895806737
Chosen Option : 4

¢ B Ty Iy F BT T o AR

S aeT A
Ans xl. ﬁm

X 2 qfrerira

A s o

v o o

Question ID : 9895806757
Chosen Option : 4

Q.7
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fEw 71w T A WWifed w5 # yoruita &= F T s9ged Reed &1 99+ #4

T foeia el favwa &1 v 3 B
Ans ,fl. 7T

<2 qREr

X 3. =T

X g

Question ID : 9895806740
Chosen Option : 1

08 fr7 ST oreg F TTTTERET oeg W WA Fi

HIHR

Ans o e
X 2. EA
v Rt
X 4 FrE

Question ID : 9895806754
Chosen Option : 2

Comprehension:
frrafaf@e ez & Rea Tumar fr 9fF gz & a2 o
AT 9T % FFER HIfAT-

TG et HRT F THE (1) g1 g WER 94719,
giramon, e it e F v ww & (2) ST
¥ =0 & @ @ B wua du @ & (3) &
HATIT ST § FEAT 3§ I 99 o wer Arar 71 39 o
SEE-STE (4) =T &1 =W e @rerar gy wrhar
#rqaﬁﬁdamﬁaﬁmmﬁgu (5) erTer I
gl

SubQuestion No : 9

e F wafag Reg == (1) F v
3UYFT WA B
Ans v I SRR
X 2 §TFR
X 2 ghEr
X 4 AT

Question ID : 9895806746
Chosen Option : 1
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Q1
0

Ans

Q.1
1

Ans

Comprehension:

frafef@a s & Rea wamer #r 9fd g & 3= o
T FeAl & FFEN HIfAT-

SHTET el $RA T IHE (1) &1 I8 TER 997,
i, A Ak e A v s @ (2) STar
g1 2T T F @& Fr FHA JIRX T H (3) &
AT ST §1 THOT 50 FN 9F off Fgr Sar ¥ 5w |
TE-SE (4) =T ¥ =7 R @reaT Ov i m=reer
aﬁr:ga?rfrdamﬁaﬁrmmgc (5) Tl ST
gl

SubQuestion No : 10

TIeaTeT H Thfad Neg wo= (2) & v
3ITFT UG gram|

X L ST

& 2 LT

X 3 garar

W o FeTar

Question ID : 9895806747
Chosen Option : 4

Comprehension:
frrafaf@a ez & Rea zumat i 9fd ez & 8= o
AT gl F HFJHEN HITAT-

SHTET et #RT & THE (1) &1 I8 ER 9471,
ghtamm, ffemae ik e & v w9 & (2) SAar
gl 30 o7 A & FH vua AR g (3) &
HATAT ST g1 THOT = FW 9F of Fgr S § 3w o
TE-SE (4) 7ot &1 =W R @rerar 9w fir wreer
gl # 9 SART F AE F gU (5) o= I
gl

SubQuestion No : 11

T H Tehfaa Naag T (3) & e
3UgFT AMeE BT

v el

<2 ot
X3 gdr
< 4 TH

Question ID : 9895806748
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l Chosen Option : 1

Comprehension:
frafaf@a wege & Rea Tu=r i 9fd ez & a9 o
T Gl & FFER HIfAT-

SHTET 3cal 91 F 5T (1) E1 TE cWER 997,
ghammn, e ik e A RIw &0 & (2) Srar
gl 37 o7 = & H FET aIX g &+ (3) &
AT A §| SHT 39 FY 99 off Fer oar # 5w ke
TEE-SE (4) w1 39 o wrewmT 9y i FRreEr
$r Gl H o9 AR FH AE T O (5) forRrer T
gl

SubQuestion No : 12
% e F Tl Rew = (@) F @w
39YFA ASE B
AS 1 ey
X 2 FHAYS
Vo e
X ¢ g

Question ID : 9895806749
Chosen Option : 3

Comprehension:
rafaf@a semy & Reg wuE=r #r 9fd gz & a9 o
T FeAl & FFER HIAT-

SHTE 3eal AR F I5E (1) 81 TE FUER 91,
g, fEme it ooel & RO = & (2) Srar
g1 37 fea 1 & & vEa a9 @ & (3) &
AT ST g1 FHOT 38 F 9F o Fgr anar g1 39 T
TE-SEE (4) =13 &1 =7 fea @remr gy FHr FrgEar
eﬁrqaﬁﬁdamﬁaﬁmmﬁgu (5) TerTer I
gl

SubQuestion No : 13
% ety F gfag Reg T (5) F v
IUgFT 2Aeq B
Ans K’ 1 mﬁﬁ_
X 2 e
AR CE L
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& S H

P

Question ID : 9895806750
Chosen Option : 1

% BT T aeg ¥ qIOEr o T 9IS F1

w2

Ans . ﬁzﬂﬁ
<2 e
X s g
X 4 e

Question ID : 9895806753
Chosen Option : 1

Q1 i # ¥ 3 Fres w1 v = S A W e qp o
s XK1 ardsr @

X2 @R @Ue gar

X 3 2 gt T ST

V. FE F TG HioaA g

Question ID : 9895806756
Chosen Option : 4

% Rad e e ¥ BT sugsa awe F AT

o o & # & ¥ wm)
X1 g
X g

v R
X o afy

Ans

Question ID : 9895806741
Chosen Option : 3

Ul 2y T Ty F AT U e St

TR ol g%

A X 1. Rt
v e
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X wfafEe
X4 yafefaa

Question ID : 9895806758
Chosen Option : 1

% Ra T # e ¥ Rw sugea ae F 9T

Pemaior &8 &
Ans xlﬂf

v o giEgar

X = fyaferat

X o Bl

Question ID : 9895806743
Chosen Option : 2

S Rw e g F ag aw wa w S A IR d

T SHET Tigsolar 3R serar & & fregenfy werm &
s K gea ¥

X2 7 & fegaty

v g ST

X 4. wfgeurar 3R e

Question ID : 9895806736
Chosen Option : 3

deﬁ't'ﬂvaa?q'a:rﬁmgﬁ|

o=
Ans «1. ?ﬁ:tr
X 2 IR

K o
X o T

Question ID : 9895806751
Chosen Option : 1

% R T F aRe ¥ T s9gEa oeE 1 99w

Jrens H 3O g Hel T g

Ans
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v 1 FHET
X
X 4 TegAT

Question ID : 9895806742
Chosen Option : 1

Qéz o 7w arew A Wi w3t sforaia &= F QAT 59997 Rees & 997

At & & e S 396w F@T H ST Gerdl
Ans Jl. m?“_

X2 famex

Ko fRER

<o gEST

Question ID : 9895806738
Chosen Option : 1

% R T F e & BT 3ugea o w1 9w

CEEY afsmdr 2
Ans X1 HE W

X 2. FEHT

v s ged

X o WE TERT

Question ID : 9895806744
Chosen Option : 3

Q‘iz =R # ¥ 38 ReeT & 999 H{ 4 a0 FEr JgEEy # FY Ed waT ¢

A L T AT ST
X 2. OTeTeT &LaAT
X 3. AT 10T T YT HLAT

K4 T FEIeA B

Question ID : 9895806755
Chosen Option : 1

% fw T ereg @ faeiw o

Hehl

Ans “l. ggj—\r
X2
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X3 R
25 4 ISR

Question ID : 9895806752
Chosen Option : 2
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